
g]kfn ;/sf/
k|b]z
;/sf/

:yfgLo tx

1 df}nf k'hf 100 100
2 cGo hfqf kj{ 200 200
3 v]ns'b 500 500
4 ?krGb| :d[lt ejg 450 450

5 ljsf; 3/ -yfxf ejg_
:t/f]GgtL sfo{qmd 500 500

6 ko{6g k|j4{g -9'ª\u] d"lt{snf_ 500 500
7 gu/ u'? of]hgf 2100 2100

8 ;fj{hlgs hUuf nut ;+sng
tyf g=kf= :jfldTjdf Nofpg]

500 500
9 yfxf a;kfs{ 500 500
10 kfls{ªsf] nflu /f]8 dfls{ª 200 200
11 z}lIfs k|f]T;fxg k'/:sf/ 100 100
12 s[lif k|j4{g 1500 1500
13 sf]N8 :6f]/ 1000 1000
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gu/kflnsf k|j4{gfTds  sfo{qmd cg';"rL # ;+u ;DaGwLt



14 kmf]xf]/d}nf Joj:yfkg 2000 2000

15 k'?ifsf] nflu skfn sf6\g]
tfnLd 200 200

16 k|f=:jf=s]= Nofa 150 150

17 ljkb Joj:yfkg -;'/lIft :yfg_
tyf lkslgs kfs{ 500 500

18 ;8s ;f}o{ alQ 3000 3000
19 lqj]0fL z+vd"n k|j4{g 700 700
20 kj{tLo tfn l;deGofª 300 300
21 kfn'ª SofDk; 1400 1400
22 :jf:Yo If]q k|j4{g 3400 3400
23 lzIff If]q k|j4{g 3000 3000
24 ;"rgf s]Gb| Joj:yfkg 100 100
25 6f]n ljsf; ;+:yf u7g 200 200
26 pkef]Qmf ;ldlt cg'lzIf0f 100 100
27 ljkb Joj:yfkg sf]if 200 200

28 ahf/ cg'udg÷pkef]Qmf ;r]tgf
150 150

29 sd{rf/L Ifdtf ljsf; -
cjnf]sg e|d0f_ 300 300

30 s/ nut ;+sng 150 150

31 ;+:yfut cg'bfg -;/sf/L lgsfo_
1000 1000

32 ah|jf/fxL df=lj= 1000 1000
33 OGb|fo0fL u'7L ;+rfng 500 500
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